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1. 6 1
2. (x+4) (x—4) 1
3. 800 cm® 1
4. ZACB = 50° 1
3. S wemlg 1
6. | - 1
12
7. 45° 1
8. 100 1
9. (0, 6) 1
10. | 40° 1
11.
a. PB=4+5=9cm 1
b. PC x PD = PA x PB 1 2
3xPD=4x9
PD = 12cm
- CD =12-3 = 9cm
12. |a a=2=L=3 X
9-5
b. =5 1 2
13. a. 20w = 3O+46+42+36+398+44+34+4O+32 .
RS 38kg.
9
b. @emeoocoemwac 30, 32, 34, 36, 38, 40, 42, 44, 46 1 2
awi2cooo = 38Kkg.
14. | a. AAED w)es esmosmyeud 30°, 60°, 90° 1

4
DE = E\/g = 2./3cm
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b. maomcle:omen aloajsal = bh = 10x2+/3 = 203 cm?2.
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a. OHTW 02T (@IEHMANINR al0a|sal = e = 15cm?
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@RAMAQUOD @YD = T 3cm

Sn =4n*+ 3n
a. @oBjalBo =4 +3=7
b. 10 azemzaips o)

S, =4 x 102+ 3x 10
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=400 + 30 = 430

N 9-5 4 s
a. awlal = 2 = o =
b. (x, y) o alowleel 80} nilB) @rwond

(1, 5), (%, ¥) apam? enilBye0e8 cRoElaflenan alowes ~iclal = 2

Y=35_,

x—1
y-5=2(x-1)
y—-5=2x-2
2x-y—-2+5=0
2x-y+3=0
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a. alol = 16 - x

b. x (16 - x) = 60°

MIso = 10 cm, afol = 6cm

ex@o (5, 4)

@00 3 Mg

enilmyeedd (5, 7), (5, 1)

alglanwoo = 12cm

G BEHoeM = 120°

ald3 @ryoo = 4cm
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ZABC =90°

ZACB = 40°

Sin 40 = S AC = 12.5cm
AC’

@BROG 6ROSle:ud = 15%9

4

06TEY0 OAIFOD MRS MWD = 1
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_ (6x5)+(9x4) _ 2

15x9 45
4m
4z
2
57[
16747 eigd
(-5, 0), (5, 0)
(0, -5), (0, 5)
4

30cm
AADC avaald@ ol @es:osmansm.

AD = DC = 30m.

30
DB=— =15m
2
BC=15 \/§m
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qvoaydud X, X + 3

x(x+ 3) =270
x> +3x-270=0
x=15

qvoalydud 15, 18
p(2)=4-30+26=0
(x—-2) (x-13)
x=2,x=13
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10 @3 @)0ai 5

20 @3 ®)0qi 16

30 @3 ®)0qi 26

40 @3 ®)0qi 39

50 @ &)o0ai 45

23-0000m &)51WOS MTEHI006M AWM.
20-30 aileovomlelnsm 23-0200M @&)SIWIOS MEHH0E D alleonamITd 10

&5ldg)enE. OOIOMm 10 ©alailEoWEEBBIGHIWIGE 30) DalaileowOamleag
10 M
alenalo E =1 @wern.

1
17-0000 5lWHs 64 = 20 + 5 x1= 205

1 1 1
awymo =20~ +6d=20- +6x1=267

2 2 2
102
102, 105,108, .......
agrgo = L 300
3
100, 103, 106, ..........
ageo = 300

300
o = 7[100+997] = 164550
ZAPO =90°, ZPOR = 130°, LPOQ = 120°, ZQOR = 110°
QyOmo AU SN @M
soBOmIE3 130°, 120° 68:06m)e03 @RSWIB6|S;EMAN@IT)

OOOS)QAUOGUE AUO2] (NGHH06Mo al)BOMIWOB)M @M

PO R C(5.,4)
S Q

AL D) b B(x, 2)
x=5y=4

awyenilsyeedd (3, 2), (5, 3), 3, 4), (1, 3)

asgloel 210)3R)ROMIOAZ QIGEBRUD
PQ=/(5-3)+(3-2)° =5
QrR= .5, RS=.5, SP= /5
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